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Adding and Subtracting Rational Expressions — Intermediate Algebra
Finding the Least Common Denominator (LCD) for Rational Expressions

1. Factor the denominators (if possible).
2. Take the highest power of each factor for the LCD.
3. Leave in factored form or multiply the factors together.

Writing Fractions in Terms of the LCD:

1. Find the least common denominator.
2. Determine what factors of the LCD the fractions’ denominator is missing.

3. Multiply the numerator and denominator of the fraction by the missing factors.

Examples: Find the LCD and then rewrite each fraction in terms of the LCD.
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Adding and Subtracting Rational Expressions — Intermediate Algebra

To Add Rational Expressions: >/()U NUS‘J' 1/16\\/( LC D

Find the LCD of all denominators.
Rewrite each fraction with the LCD.

3. Combine the numerators using the appropriate operation. The denominator does not
change from the LCD when adding or subtracting fractions.

4. Check for simplification possibilities.

Examples: Add.
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Examples: Subtract.
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